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Question No. 1 is compulsory, answer any FOUR questions from the remaining.

A () YR FE A 8, 997 3 o & I A
Note :
(i) JIF F97 & T YT F1 FHEAR 0F T §F Fd |
Solve all parts of a question consecutively together.
(iii) JFF 9 1 79 98 & IR Fifoq

(iv)

L5 AR

Start each question on fresh page.

/

g1 ye13T 7 3R g1 #1 T 7 FA s & a8 |

Only English version is valid in case of difference in both the languages.

& T HR R -

(a) ETETHE

(c) YEEEH

The cause of Earthquake is

(a) Volcanic

(c) Landslide

(2) TER A YR TR -

(a) Twvsh
(c) vmewd

The fastest seismic wave is

(a) Secondary
(c) Primary

(b)
(d)

(b)
(d)

(b)
(d)

(b)
(d)

FIf®
I aeft

Tectonic

All of the above

od
™=
Love

Rayleigh wave

(10f8) P.T.O.
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(3)

@

(3

(6)

(7

e 3 T wE et # way g @ -

(a) #wm (b) faeim

(c) =Tl (d) T T

Magnitude & Intensity of earthquake are proportional as

(a) Direct (b) Inversely

(c) Logarithmic (d) Sine wave

W e 1 % HTAR Had GatH I & —

(a) SHIII (b) AV

(c) IHII (d) SHEIV

The most dangerous zone as per IS is

(@) Zonelll (b) ZoneV

(c) Zonell (d) ZonelV

3 wara 1 Wferes Tpfaes srafvr gt 2 -

(a) QT (b) A

(c) weEm (d) IHrEF | HE T

The fundamental natural period of tall building is

(a) More (b) Less

(¢) Medium (d) None of the above

e w1 § Tramem fawear % R0 wad F1 3ags e B R -
(a) FEW (b) ®Bd

© ()3 (b) g (d) 37 A A B TE
Diaphragm failure of masonry building is failure of which component ?
(a) Walls (b) Roof

(c) Both (a)and (b) (d) None of the above

W1 # qr3fEn wMTa gar @ safe & 6 g Wad -

(a) HEHTAARAE | (b) TEIEFEAL

) Fmamddagl (@ (a)F (b)QH

Pounding effect in building occurs when two adjacent buildings are
(a) Atsame level (b) Of same height

(c) Atdifferent level (d) Both (a)and (b)
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®

©)

(10)

(1)

(12)

WRAR AT FIE 4326 : 1993 % AR wa ) et T WK (qe) F T e §
=1 § & #19 w1 sarge @ =R ¢

(a) TERSE (b) frpeade
(c) Truem g : (d) IWrH H 8 FE TE

As per IS 4326 : 1993 the interconnection between staircase and floor should be
provided by

(a) Expansion Joint (b) Contraction Joint

(¢) Sliding Joint (d) None of the above

WA W1 1S 4326 : 1993 F FTHR R FEA HA areft drar 6 werd = 5 8
fora@ wn ¢ &t =rfa 2

(a) 230 . (b) 300 iy

(c) 450 fud, (d) 190 fi. .

The thickness of load bearing walls should not be less than as per IS 4326 : 1993
(a) 230 mm (b) 300 mm

(c) 450 mm (d) 190 mm

femmé wart Y ey wferiedt aman ag &g @fost gdietor 7@ R sman @ -

(a) fom—E@T@E@w (b) RUTFTE®

(c) oot eaa (d) Bd®Aad W

For Seismic strengthing of Masonry building the horizontal reinforcement is not
provided at

(a) Lintel level (b) Plinth level

(c) Sill level (d) Rooflevel

o 3 @ @1 & ol & o wal & sfae ar @ e € ¢

(a E (b) D

© C d) (¥ ()3

In which category of Masonry Buildings Dowel bars are provided ?

(@) E . (b) D '
{c) € (d) Both (a) and (b)

forTd el # Sreatut gagieh g id i arn fem I w R w2 7
(a) Al hl G (b) WA H1

© ()9 (b) T ) I d A B

The amount of vertical reinforcement in masonry building depends upon
(a) Number of storeys (b) Category of building

(c) Both (a)and (b) (d) None of the above

P.T.O.
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(13)

(14)

(15)

(16)

(17)

et Y arfiren A 3 e @ e  PreT w2 7

(a) Y& T HR ik (b) WTeHA

(c) aadEaR (d) oa R g
Which option is correct for more strength of buildings ?
(a) Car parking of ground floor (b) Balcony

(¢) Shear walls (d) Swimming pool at roof
AT B3 TIH GAATH WHT e & FHifeh 7€ —

(a) W9 I FHIN TR |

(b) e ) g A e 2

(c) TS o HI THH W TIHNG T8 FT 2 |

(d) I9es ¥t

Floating columns dangerous because they

(a) make the building stiffer.

(b) cause large deformation in buildings.

(c) do not transfer the inertia force to the ground.
(d) All of the above

o= 3 @ i @ forereg vl dam W smarh @ e 2 2

(a) fToaem (b) Iete

() TR (d) 39l wvft
Long walls are easier to

(a) Slide (b) Overturn

(¢) Crack (d) All of the above
YR 799 I8 13920 : 1993 = & & fred waifta @ 7
(a) @=an famm : (b) ~ dHA

(©) (a)d (b) QM (d) I F A P T

IS 13920:1993 deals with the
(a) Ductility consideration (b) Strength

(¢) Both (a)and (b) (d) None of the above
e ST & & fore il & et s Y mufrsar @ w2 7
(a) UH3-415 (b) THE-500

(c) THE-250 (d) THE-550

Which steel grade is preferred for earthquake areas ?

(a) Fe-415 (b) Fe-500

(¢) Fe-250 (d) Fe-550
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(18) % w # et dftw srferspam gft e 3 & arferes i Bt e

(19)

(20)

(a) o TETE (b) & Y 3eft e
(c) & A TETE (d) o it <t e
The maximum spacing of stirrups should not exceed

(a) Depth of beam (b) Half of depth of beam

(¢) Twice the depth of beam  (d) Four times the depth of beam

325

T AT 1S 13920 % FTER FHa LR $ Hiers H1 & w9 et B =1fEe ¢

(@) 150 faeft (b) 180 faft

(c) 200 fadt (d) 250 it

The minimum thickness of shear wall as per IS 13920 is
(a) 150 mm (b) 180 mm

(¢) 200 mm (d) 250 mm
Fara = fn 3 F e ar=arfa arman @ 7

(a) wfafsean (b) feratt

(c) w4 ' (d) o9t

The rescue phase comes under

(a) Response (b) Recovery

(c) Mitigation (d) Preparedness

(21) T A F H Tl e AE 2 2

(22)

(a) EshaTd (b) 3IHE

(c) Pftwwem (d) @

Which one is not a natural disaster ?

(a) Cyclone (b) Drought

(c) Soil erosion (d) Landslide

F8-9 wfid= @ gt W At & s it

(@) FAEARI (b) wdtR |

(c) afafda w2 | (d) =g Gehdl & YA 9T Ghell B |
As epicentre distance decreases the intensity of earthquake

(a) decreases (b) increases

(c) no change (d) may increase or decrease

PﬁTlo.
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(23)

(25)

(26)

(27)

s % T 1 Afirerg HEea & -
(a) Rt ) Tt
(c) Toremum (d) foemmes
Recording to Magnitude of earthquake is called
(a) Seismoscope (b) Seismology
(¢) Seismogram (d) Seismograph
(24) @ YHR $ qal f= °§ | frw meam TR Esdt R ¢
(a) W (b) &
(c) & (d) o
S-waves can travel through which of the following medium ?
(a) Liquids (b) Solid
(c) Air (d) All of the above
B 1 YR 9 T Fe g f1 § & fore yor wgeran R 7
(a) WEaR | (b) weAR|
(c) wwfqa=diaa? | (d) ©E Y qG THAT B |
With the increase in roof load the inertia force is
(a) Increased (b) Decreased
(c) Not affected (d) May decrease or increase
i T JE AT 8 -
(a) WhaTEg (b) FEETR A G
(c) #feTsazg (d A
Box action is better for
(a) Line load (b) Vertical load
(c) Horizontal load (d) All of the above
T % 20 JrEEfE Yad i THAH BT R |
(a) HH (b) =9I
(c) wem @) FifTidme |
During earthquake unsymmetrical buildings show damage.
(a) less (b) more

(c) moderate (d) not fixed
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(28) ToaTE s &1 fomfvr fope o1 a6 P T T 2 7

(a) THad (b) qa
(c) dHT= (d) =maH
The masonry buildings can be made upto
(a) one storey (b) two storey
(c) three storey (d) four storey
(29) Toé & wea erae ar i arpfa Bt @ —
(a) R (b) -ImFfa
(c) F-ImPfa (d) uHA-IHfa
Shape of dowel bar provided in masonry is
(a) Square (b) T-shape
(c) U-shape (d) L-shape
(30) W H HTS 13920 F AR FS & R I AT A1MRY —
@ 90°F® (b) 135°%®
() 120°%% (d) 180°%®
As per IS 13920 — ends of stirrups be bent into
(a) 90° hook (b) 135°hook
(¢c) 120° hook (d) 180° hook
Frafafea # 98y § qugm -
Explain the following in brief :
(i) e et
Seismic waves
(i) W dfae
Soft storey
(iii) ffeet dvg
Lintel Band
(iv) ==Ta HrEwal
Rescue Worker
(v) @ faweran

Column Failure

325

(1x30)

(2%5)
P.T.O.
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3.

(i) ™ A & T HROE ? TR THIT |
What are the causes of earthquake ? Explain them.

(i) e &fietor T & I9ANT %) TEHTET |

Explain the use of seismic zoning maps. (5+5)

(i) erEwn 6 gEEar ¥ “wamar feft” 9z %) awe |

Explain the term “Degree of Freedom™ with the help of examples.

(i) ¥ Wi rafy 71} 7 THwmEY |
Explain fundamental natural period. (5+5)

o st < fafirt farseran foranfarfirdl ) wemew | sravasarER fas @y |

Explain various types of failure mechanism of masonry buildings. Draw required
sketches. (10)

WRATE A HIT 4326 : 1993 F s sfedneft waei & Pmfor armft w99, aftveess 1

frmfor & fere farfim ree =1 wrawm= # 7 wwgmsu |
What are various Codal provisions of IS 4326 : 1993 regarding material selection,
design and construction of earthquake resistant buildings ? Explain. (10)

st umet @ 39 w1 awea # 7 fafr= wer ) sfrafiaast 3 9% et 5 Al
wfga wwzme |

What do you mean by irregular buildings ? Explain various types of irregularities and
their effect with sketches. (10)

(i) e wfededt frafor 8 sds S & vaw ) gagmw |

Explain the importance of shear wall in earthquake resistant construction.

(i) U~ g F o ! g aagmse |

Explain the ductile behaviour of beam-column joint with sketch. (5+5)

19T TEE F1 7 36 fafi= woil w5 gefrag w0 g R @ wwmu |

What is disaster rescue ? List various phases of it and explain in detail. (10)




